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3. BT
void ss(char *s, char t)
{ while(*s)
{ if(*s==t) *s=t-'a+'Al

St+;
}
}
main()
{ char str1[100]="abcddfefdbd", c='d";
ss(strl, c); printf("%s\n",str1);
}
M EiT RN 4R o
A) ABCDDEFEDBD B) abcDDfefDbD
C) abcAAfefAbA D) Abcddfefdbd

4. DU B A BRI M IE A H y (K 2 o
A) if(x>0) y=1;else if(x==0) y=0;else y=-1;
B) y=0;if(x>0) y=1;else if(x<0) y=-1;
C) y=0;if(x>=0)if(x>0) y=1;else y=-1;
D) if(x>=0) if(x>0) y=1;else y=0;else y=-1;

5. T RERUS, FEFEEE RN .
A) double AA(int a, int); B) double DD(int *,int *)
C) double CC(int, int); D) double BB(int x,y)




6. HLLNEF
struct STU
{ char num{10];  float score[3]; }
main()
{ struct STU s[3]={{"10021",90,95,85},
{"10022",95,80,75},
{"10023",100,95,90} },*p=s;
inti; float sum=0;
for(i=0;i<3;i++)
sum=sum-+p->score[il;
printf("%6.2f\n",sum);

}
REFFEiT AR 45 R 2 o
A) 260.00 B) 270.00 C) 280.00 D) 285.00

7. WHEWMTEN:
struct sk
{ inta;
float b;

}data;
int *p;
HEAF p 4811 data PR adsl, EFREEE AL o

A) p=&a; B) p=data.a; C) p=&data.a; D) *p=data.a

8. HLU TR

#include <stdlib.h>

struct NODE

{intnum;  struct NODE *next; }

main()

{ struct NODE *p,*q,*r;
p=(struct NODE *)malloc(sizeof(struct NODE));
g=(struct NODE *)malloc(sizeof(struct NODE));
r=(struct NODE *)malloc(sizeof(struct NODE));
p~>num=10; g->num=20; r->num=30;
p->next=q;q->next=r,
printf("%d\n",p->num-+q->next->num);

}

BT RS R 2 o
A)10 B)20 )30 D) 40

9. EATHBNMRM: inta [3] [4]; WA arhBEE_ .
A) TEERFIOEATH B B4 0
B) FTAERRT M B S 0
C) A/ B E A
D) WIAERR RIS Pz AT B B o
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10. HLUATRF
#include <stdlib.h>
main()
{ char *p,*q;
p=(char *)malloc(sizeof(char)*20); q=p;
scanf("%s%s",p,q); printf("%s %es\n",p,q);

¥
WA abe def<[HlZE>, WERIMGRRE_ .
A) def def B) abc def C)abed D)dd

. BEETHEF, SHIEFETHER (KmE5NE, /844>, Hi1+204)

1.

main() v

{ inta=15, b=21, m=0;
switch(a%3)

{ case 0: m++; break;
case 1: m++;
switch(b%2)

{ default: m++;
case 0: m++; break;
}

}

printf("%d\n", m);

}

2,

main()

{ intx=16;
while(x>10&&x<50)

{ xtf;
if(x/3){x++;break;}
else continue;

}
printf("%d\n",x);

}

3.

void swap(int *a, int *b)

{ int*t;
t=a; a=b; b=t

}

main()

{ intx=3, y=5, *p=&x, *q=&y;
swap(p,q);
printf("%4d%4d%4d %4d\n",x,y,*p,*q);

}
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4,
#include <string.h>
void f(char p[][10], int n)
{ chart[20]; inti,;
for(i=0;i<n-1;i++)
for (j=i+1;j<n;j++)
if(stremp(pli},p[j1)<0)

\ { strepy(t,p[iD); strepy(plil.p[j1); strepy(plil,t)}

main()

{ char p[][10]={"abc","aabdfg","abbd","dcdbe","cd"}; inti;
f(p,5); printf("%d\n",strlen(p[0]));

}

5 ~N
int fun(int*x,int n)
{ if(n==0) return x[0];
else return x[0]+fun(x+1,n-1);
}

main()
{ inta[}={1,2,3,4,5,6,7};
printf("%d\n",fun(a,3));

Nt
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WHIFTEAREETF 2. Fln, 6 &5, Bk 6=1+2+3.

[CHEF]

#include <stdio.h>

void main( )
{ 1O

for(i=1;i<= (2) ; i)

for(C___(3)  ,j=2jj<ijj+t)
if(__ (4 )sumt=j;
if( (5) ) printf(“%4d”,i);
}
printf(*“\n”);
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[CEfF]
int check(s)
S (<)
{ int lIp,1p;

1p=0; rp=0;

while (__(7)  ){
if (*s==(") lp++;
else if (*s==")") {

pt;
if (_(8) )return0;
}
O

}
return (10) :1;
}
M. ACIEESHRE TIERF (KBB4, T/\§205, #£i1804)
1. SR S ik 2 0.

1 n=0
Pn(X)= X n=1
((2n-1)xPy1(x)~(n-1)Pno(x))/n n>1
# LK Ps(2.4).
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